REVISIONS
[> notes = | e ] o
1. STANDARD GLAZING OPTION — 125" wL003] V] 1714721 1TIC
MINIMUM DSB GLAZING MEETS UNIFORM_STATIC v [4/27/21 | TiC
DESION. PRESSURES' SHOWN ON_THIS DRAWING.

GLAZING SHALL HAVE A MAXIMUM HEIGHT OF
6.70° AND A MAXIMUM LENGTH OF 24.00".
GLAZING IS NOT IMPACT RESlSTANT AND DOES
NOT MEET THE REQUIREMENTS

WIND—BORNE DEBRIS REGIONS.

2. ALUMINUM FULL VIEW OPTION — ALUMINUM
FULL VIEW SECTION MAY REPLACE ANY
SECTION EXCEPT TOP AND BOTTOM PANELS.
ALUMINUM FULL VIEW SECTION SHALL HAVE
RAILS AND STILES OF EXTRUDED ALUMINUM
ALLOY 6083—T6 WITH A 2—1/4" INTEGRAL FIN
AND .125" MINIMUM DSB GLAZING INSTALLED
WTH ALUMINUM RETAINERS IN ORDER TO
MEET UNIFORM STATIC DESIGN PRESSURES
SHOWN ON THIS DRAWING. AFV PANEL SIZE IS
57.5"x21.9" (MAX). GLAZING IS NOT IMPACT
RESISTANT AND DOES NOT MEET THE
REQUIREMENTS FOR WIND—BORNE DEBRIS
REGIONS.

3. MINIMUM OF 1" OVERLAP ON BOTH JAMBS
REQUIRED TO MEET NEGATIVE DESIGN
PRESSURES.

4. SUDE LOCK OR OPERATOR REQUIRED.

5. SECTION STEEL TO HAVE THE FOLLOWING
MINIMUM THICKNESS:

434, 438 — 25 GA

6. THE DESIGN OF THE SUPPORTING
STRUCTURAL ELEMENTS SHALL BE THE
RESPONSIBILITY OF THE PROFESSIONAL OF
RECORD FOR THE BUILDING OR STRUCTURE
AND IN ACCORDANCE WITH CURRENT BUILDING
CODES FOR THE LOADS LISTED ON THIS
DRAWING.

7. TRACK CUPS SHALL BE LOCATED WTH
CENTERLINE OF BOTTOM CLIP SPACED 10”
MAX FROM BOTTOM OF TRACK AND REMAINING
TRACK CLIPS SPACED AT 24" 0.C. MAX.
SPACING BETWEEN TOP TRACK CLIP AND
SPLICE PLATE SHALL BE 30" 0.C. MAX.

8. WHEN MOUNTING TO WOOD, DOOR JAMB TO
BE MINIMUM 2x6 STRUCTURAL GRADE LUMBER.
REFER TO JAMB CONNECTION SUPPLEMENT
FOR ATTACHMENT TO SUPPORTING
STRUCTURE.

SUPERIMPOSED DESIGN PRESSURE
LOADS ON SUPPORTING STRUCTURE

MAX | nooR | MAX UNIFORM LOAD EACH JAMB
(PLF)

DOOR
woTH | HEIGHT

104" ALL +60.2/—68.5

13 GA HORIZ ANGLE \

15 GA MIN HORIZ
TRACK

13 GA CONTINUOUS
ALL ANGLE

15 GA MIN_VERT
wmack ||

5/18"x1— 5/5 —

LAG SCREW AT EACI
HOLE LOCATION FOR
WOOD SUBSTRATE. SEE
SHEET 3 FOR MOUNTING
TO OTHER SUBSTRATES.

(1) 1/4—20x9 /16" —
TRACK BOLTS AND
1/4-20 HEX NUTS AT
EACH TRACK CLIP
LOCATION

(SEE DETAIL A SHEET 3) _/

11 GA TRACK CLIPS
(WELDED, BOLTED, OR
RIVETED TO WALL

ANGLE) SEE NOTE 7 AND
DETAIL F SHEET 3

SLIDE LOCK ONE END———]
(NOT REQUIRED WITH
OPERATOR — SEE NOTE 4)

NOTE:  (4) SECTION SOUD DOOR
SHOWN. SEE SHEET 2 FOR U-BAR
LOCATIONS ON DOORS WITH OTHER
SECTION QUANTITIES AND SEE NOTES 1
& 2 THIS SHEET FOR GLAZING

i

@

20 GA CENTER STLE— |

(D
it

OPTIONS.

STATIC PRESSURE RATINGS

APPROVED SIZES

DESIGN PRESSURE(PSF): +11.7/-13.3

MAX WIDTH: 10°-4"

MAX HEIGHT: 24'—1"

IMPACT/CYCLIC RATED: NO

MAX SECTION HEIGHT: 24

8

@ oote

?....J.C. VOELKEL

OTHER INFORMATION
N,me.E[RmPART,HAYNDTEcﬂPIEIIINMNWIER[R
OR INFORMATION IS INTENDED

eso

THE DOORS ARE DESIGNED AND MANUFACTURED TO COMPLY WITH THE 2018 IRC AND THE 2018 IBC.

mmmmnu’wmmmmmumnsmum
ANYDNE WITHOUT THE PRIDR WRITTEN CONSENT OF

DISCLOSED TO
TD[PERATEASALMISE[RMII‘HIR]ZATII]NTDLISEHFRMVHIPBIV‘IHIIHTHESPEW'CVWW OVERHEAD DOOR CORPORATION.

COMPANIES.
MAT.IDN. NO nm.usun: OF

DATE IRAVING TITLD
lNlI.DAD. OPTIDN

e CoDE
IES 421/423/427/ zs/ 34/
T c|'_:\g|< 1/14/21 RIS g 4 434/436,
Yisuo w vias |QVER S00 +008/-003 T QIaN 1/8/21
e RA r——— & D-411783
T CLARK | 4728721 |o—N7p  Jswrl o= 3



chris
Texas


1/4-20x9/16" TRACK BOLT
AND 1/4—20 HEX NUT
THROUGH THE SLOT IN THE
TRACK AND TRACK CLIP

12 GA COMMERCIAL TOP FRAME
BRACKET WITH 13 GA ROLLER
CARRIER ATTACHED WITH (4)
1/4-14x7/8" SELF DRILLING
CRIMPTITE SCREWS

2" STEEL ROLLER WITH
5-1/8" STEM AND 7/16"
PUSHNUT AT EACH ROLLER
LOCATION. 1/4" MAX
BETWEEN PUSHNUT AND
BRACKET OR HINGE

14 GA WIDE BODY END
HINGE TO ATTACH SECTIONS
ONE AND TWO.

13 GA WIDE_BODY END
HINGE TO ATTACH
REMAINING SECTIONS. FOR
ALL, ATTACH WITH (4)
1/4—14x7/8" SELF DRILLING
CRIMPTITE' SCREWS

14 GA WIDE BODY
INTERMEDIATE HINGE
ATTACHED WITH (4)
1/4-14x7/8" SELF
DRILLING CRIMPTITE

12 GA BOTTOM BRACKET
ATTACHED WITH (3!
1/4—14x7/8" SELF DRILLING
CRIMPTITE SCREWS

X—(z) 1/4—14x7/8 SELF DRILLING
CRIMPTITE SCRI

HALF HINGE

(2) 1/4 x 1/2°
CARRIAGE BOLTS AND

1/4" FLANGE NUTS

(12) SECTION DOORS WITH:
(8) 3" 20 GA 80 KSI U—BARS
LOCATED AS SHOWN

(11) SECTION DOORS WITH
(7) 3" 20 GA 80 KSI U-BARS
LOCATED AS SHOWN

(10) SECTION DOORS WITH:
(6) 3" 20 GA 80 KSI U-BARS
LOCATED AS SHOWN

(9) SECTION DOORS WITH
(6) 3° 20 GA 80 KSI U-BARS
LOCATED AS SHOWN

(8) SECTION DOORS WITH
(5) 3" 20 GA 80 KSI U-BARS
LOCATED AS SHOWN

(7) SECTION DOORS WITH
(4) 3° 20 GA 80 KSI U-BARS
LOCATED AS SHOWN

(6) SECTION DOORS WITH
(4) 3" 20 GA 80 KSI U-BARS
LOCATED AS SHOWN

(5) SECTION DOORS WITH
(3) 3" 20 GA 80 KS| U-BARS
LOCATED AS SHOWN

(4) SECTION DOORS WITH
(2) 3" 20 GA 80 KSI U-BARS
LOCATED AS SHOWN

STATIC PRESSURE RATINGS

DESIGN PRESSURE(PSF): +11.7/-13.3

IMPACT/CYCLIC RATED: NO

8

% J.C.VOELKEL

ATTACH U—BARS WITH
(2) 1/4-14x7/8" SELF
DRILLING CRIMPTITE SCREWS
AT ALL STILE LOCATIONS, TYP.

AND PROPRIETARY

TPEMVWMBALLDTIERM \TIDN CONT/ PROPERTY
ANYDNE VITHOUT THE PRIDR VRITTEN

AND INFDRMATIDI N.mvm.:mmpm,mvum!mmmmwnm
ANY OF THIS DRAVING DR INFORMATION IS INTENDED

rwm:mmunm;_mlumrrsmm

COMPANIES.
OVERHEAD DOOR MAT.IDN. NO nm.usun: OF
IC_VRITTEN IIIISBIT I‘.IVERH DOOR

APPROVED SIZES '..u........................... T R R L N T T R ot r-nnrrwm:spzc:r R
€c The Gemmine. The Cvigind. DATE
MA§ HWIE[I)(';r:T 1(2)'—4-'1' "' < '-.. 1 3 3 1 7 4 Ty [ g T CLARK_ 1a/21 m??.m:é:rml: 4521?4:5{43““‘
MA] : 24'-1" ATERIA ‘cHeECKED B 133 PSF,
D" Q /8721
MAX SECTION HEIGHT: 24| | O ° </ 6 — /A _J QN B D- 411783
“ 6‘ ..._"_. R e T CLARK | 428721 /s Tsma o 3
7 | ‘\\ SIONAL e 2 1



chris
Texas


MIN 3/16" THICK
STEEL FOR MOUNTING

MOUNTING WALL ANGLE:

TRACK CUIP

1/4-20x9/16"
TRACK BOLT AND
1/4-20 HEX NUT

TRACK

CONTINUOUS
WALL ANGLE

(2) 1/4” X 7/16,
SEMI TUBULAR
RIVITS OR (2) l._
1/4"—20 TRACK \
BOLTS WITH NUTS®,
OR (2) .28" DIA
RESISTANCE SPOT
WELDS

RUBBER GASKET

1/8" ANNEALED DSB

GLASS (MIN)

E6OXX MIN. DLO= 5°x20"
OPTIONAL: WALL ANGLE MAY BE ATTACHED TO
SUPPORTING STEEL WITH MIN. (1) 1/4—20x7/8"
SELF DRILLING SCREW WITH 1~ 0.D. WASHER' AT
EACH HOLE OR PAIR OF HOLE LOCATIONS IN
LIEU OF WELDING
MOUNTING TO STEEL DETAIL
RUBBER FRAME GASKET
(NON—INSULATED DOORS)
PLASTIC FRAME

STATIC PRESSURE RATINGS

DESIGN PRESSURE(PSF): +11.7/-13.3

IMPACT/CYCLIC RATED: NO

8

1/8" ANNEALED DSB GLASS (MIN)
DLO= 5 3/4"X22 7/8"

(10) #8X2" SHEETMETAL SCREW
(1) PER VERTICAL FRAME LEG

(1) PER HORIZONTAL FRAME LEG

3/4"
IN DIST

3/8 SMPS 3/8" SIMPSON TITEN HD,

2-3/4" NIN_EMBED INTO 2-3/4" MIN ENBED INTO

MIN 2000 PSI PS

AT EACH AT EACH HOLE OR PAR

OF HOLE LOCATI OF HOLE LOCATION:

MOUNTING WALL ANGLE-

TRACK CUP TRACK CLP
1/4—20x9/16° 1/4-20x9/16"

%’Aﬂ{ BOLT A/l} M BOLT AND

1/4-20 HEX NUT-

lé&—m

1/4-20 HEX NV b

TRACK uel oF
MOUNTING TO STEEL DETAIL

12GA SCAB BRACKETS (OPTIONAL)
. © 12° SPACING SECURED TO WALL
- |/ ANGLE WTH 1/4—20 TRACK BOLT
AND 1/4-20 FLANGE NUT

WALL ANGLE FACING
IARD

-OPTIONAL:  WALL ANGLE MAY BE ATTACHED TO

SUPPORTING STEEL WITH MIN. (1) 1/4—1:«7/;'
. WASHER AT

RILLING SCREW
EAU’IHDLEMPMR(FHOLELMTKN N

DETAL F
,lll:llll.l‘l.ll‘l.lllll'.lll (X
’ J C VOELKEL 1 THE DRAVINGS AND ALL OTHER INFORMATIIN CINTAINED AND PROPRIETARY PRIPERTY OF OVERHEAD DOOR CCRPORATION AND ITS AFFILIATED COMPANIES.
[A 4 Y O THIS TRAVING O HEDRMATIN 1% m&%&% e ADOZATIN T LS 17 £ A HASDE VIO i SreChe VRITEN OO DVERiEn o
APPROVED SIZES '-.-...-........................ : L T0LLSE IT FOR MY PURPASE VITHOUT THE SPECIFIC VRITTE
MAX WIDTH: 10'—4" (, .- s 1/14/21 mwum&n@'gqemwm,
MAX HEIGHT: 24'—1" "'99 . 133174 .‘[f,t .,.,T,.: CARK 2/-133 PSF, 10°-4 WAX
: o 1/8/21
MAX SECTION HEIGHT: 24] . Q& _J QN ®2° D- 411783
"\OAG‘ <{?E Ns?’ @V\ > EIE TER | e for wr Tem3es
7 | \\\ S/o ;\.l.l;«.\_ EV\ .- 1

\\\\s



chris
Texas


		2021-05-03T10:10:02-0500
	John Christian Voelkel




